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minAngle;
maxAngle;

lookSpeedX;
lookSpeedY;
currentX = 6;
Transform pivot;
Iransform target;
CursorLockMode lockMode;

O

Cursor.lockState = lockMode;

O
transform.position = target.position;

transform.rotation = Quaternion.Euler(®, transform.rotation.eulerAngles.y + Input.GetAxis("Mouse X") * LlookSpeedX, 0);

currentX += lookSpeedY * Input.GetAxis("Mouse Y");
currentX = Mathf.Clamp(currentX, minAngle, maxAngle);

pivot.rotation = Quaternion.Euler(currentX, pivot.rotation.eulerAngles.y, @);
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minAngle;
maxAngle;

LookSpeedX;
LookSpeedY;
currentX = 0,
' ‘ AT
target;
ﬂ v Player (Script) o
Anin »|dle (Animator)

", e .
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Cam B CameraController (Camera Controller) ®




O

{
transform.position = target.position;
transform.rotation = Quaternion.Euler(®, transform.rotation.eulerAngles.y + Input.GetAxis("Mouse X") * LookSpeedX, ©);
currentX += lookSpeedY * Input.GetAxis("Mouse Y");
currentX = Mathf.Clamp(currentX, minAngle, maxAngle);
pivot.rotation = Quaternion.Euler(currentX, pivot.rotation.eulerAngles.y, 0);
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UnityEngine;
rb;
anim;
speed;
aCont cam
waving = 3
0
rb = GetComponent<Rigidbody>();
O
if( GetKey(KeyCode.Q))
transform.rotation = cam.transform.rotation;
}
if (Ir GetButton("Horizontal™) GetButton("Vertic
anim.SetInteger("State”, 1);

anim.SetInteger( . 8)7
}
if GetHeyUp(KeyCode.R))
{
anim.CrossFade("Idle" 0.25F);
waving x
}
if (waving) return;
Vector3 newVel = transform.forward # GetAxis(
newVel += transform.right + I GetAxis("Horizont
newVel = Vector3.ClampMagnitude(newVel, 14);
newVel *= speed;
nemVel.y = rb.velocity.y;
rb.velocity = newVel;
if ( t.GetKeyDown(KeyCode .E))
anim.CrossFade("S . 9);
}
else if (I GetHeyDown (KeyCode .R))
{
anim.CrossFade( rdWave”, 8);

waving

)




ngldbody rb;
) AHWHatOT anim;

Lic float speed;
L1c CameraController cam;
wav1ng false;
Ed v Player (Script) 0
ANnim « |dle (Animator)
Speed 3

Cam B CameraController (Camera Controller) ®
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if(!Input.GetKey(KeyCode.Q))

transform.rotation = cam.transform.rotation;

if (Input.GetButton("Horizontal"”) || Input.GetButton("Vertical”

{
anim.SetInteger("State", 1);

}
else
{

anim.SetInteger("State", 0);

}

if (Input.GetKeyUp(KeyCode.R))

{
anim.CrossFade("Idle",0.25F);
waving = :

ot

if (waving) return;

Vector3 newVel = transform.forward * Input.GetAxis("Verti
newVel #+= transform.right * Input.GetAxis("Horizontal");
newVel = Ve 3.ClampMagnitude(newVel, 1f);

newVel *= speed;

newVel.y = rb.velocity.y;

rb.velocity = newVel;

f (Input.GetKeyDown(KeyCode.E))

anim.CrossFade("Slash", 0);

else if (Input.GetKeyDown(KeyCode.R))

anim.CrossFade("SwordWave”, 0);
waving = 5
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UhityEngine;

1 cutPlane;
ask layerMask;
sliceX;
sliceZ;

Layer

Slice()

ollider[] hits = Physics.OverlapBox(cutPlane.position,

for ( i = 0; i < hits.Length; i++)
{

Slicer.Instance.Slice(cutPlane.position, cutPlane.up, hits[i].gameObject);

}

Katana Slice (Script) e + :

Cut Plane X Plane (Transform) ®
Layer Mask Sliceable v
Slice X 2

Slice Z 1

Vector3(sliceX, 0.1f, sliceZ), cutPlane.rotation, layerMask);
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EzySlice;
UnityEngine;

Material crossMaterial;
force = 160;
sicMaterial physMat;
Ob tSlicer Instance;

Instance = -

AddHullComponents(GameObject go)

go.layer = 10;
go AddComponent<Hull>();

g dy rb = go.AddComponent<Rigidbody>();
rb 1nterpolat10n = ngldbodylnterpolation.Interpolate;

Llider collider = go.AddComponent<MeshCollider>();

calllder convex = .

collider.material = physHat

rb.AddExpLos:anorce(Force, go.transform.position, 20);
(GameObject bottom,GameObject top) Slice(Vector3 pos, Vector3

hull = obj.Slice(pos, dir, crossMaterial);

if Chull != )

bottom = hull.CreateLowerHull(obj, crossMaterial);

top = hull.CreateUpperHull(obj, crossMaterial);
AddHullComponents(bottum)
AddHullComponents(top);
Destroy(obj);
return (bottom, top);

}

return ( 2 );

dir,

obj)
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L crossMaterial;

force = 100;

M rial physMat;
tS 13 Instance;

Object Slicer (Script)

Cross Matenal ® RedGlow
For 100
Phys Mat = NoFriction
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if (hull !=
{

hull

GameObject
GameObject
AddHullComponents(bottom);
AddHullComponents(top);
Destroy(obj);

return (bottom, top);

}

return (

Sato| 2 g4

bottom,GameObject top) Slice(Vector3 pos, Vector3 dir,

= obj.Slice(pos, dir, crossMaterial);

bottom = hull.CreateLowerHull(obj, crossMaterial);
top = hull.CreateUpperHull(obj, crossMaterial);

)}

v jELR

obj)




AddHullComponents(GameObject go)

go.layer = 10;
go .AddComponent<Hull>();

tigidbody rb = go.AddComponent<Rigidbody>();
rb.interpolation = RigidbodyInterpolation.Interpolate;
MeshCol * collider = go.AddComponent<MeshCollider>();
collider.convex = -

collider.material = physMat;
rb.AddExplosionForce(force, go.transform.position, 20);




Hull

lifeTime = 5F;

0

Destroy(gameObject, lifeTime);










UnityEngine;

i wave;
nsform point;

Spawn( angle)

Quaternion newRot = Quaternion.Euler(point.rotation.eulerAngles.x, point.rotation.eulerAngles.y, angle);
' = Instantiate(wave,point.position,newRot);

B Wave Spawner (Script) 0 3+
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System.Collections.Generic;
UnityEngine;

meObject> sliced = List<GameObject>();
mask;

speed;

lifeTime;

0

rb = GetComponent<Rigidbody>();
Destroy(gameObject, lifeTime);

@)
rb.velocity = transform.forward * speed;

1

(Collider other)

if (other.gameObject.layer != mask) return;

if (sllced Contalns(other gameObJect)) return;
)b - ject) hulls = ObjectSli

sliced. Add(hulls Iteml);

sliced.Add(hulls.Item2);

Instance Slice(transform.

position, transform.right,

other.gameObject);



List<GameObject> sliced = List<GameObject>();
mask;
speed;
lifeTime;

B v wave Slicer (Script) e i : v 0: Default

1: TransparentFX
r*{m t 2: Ignore Raycast
Life Time 10 4: Water

5: Ul

8: PostProcessing
9: Not in Reflection
10: Sliceable

Add Layer...




0O

rb.velocity = transform.forward * speed;




(Collider other)

if (other.gameObject.layer != mask) return;

if (sliced.Contains(other.gameObject)) return;
(GameObject,GameObject) hulls = ObjectSlicer.Instance.Slice(transform
sliced.Add(hulls.Iteml);

sliced.Add(Chulls.Item2);

.position,transform.right, other.gameObject);










Enemy : MonoBehaviour

Transform target;
Rigidbody rb;
speed;

tO

{
rb= GetComponent<Rigidbody>();
}
Ve QO
{
Vector3 newVel = transform.forward * speed;
newVel.y = rb.velocity.y;
rb.velocity = newVel;
transform.rotation = Quaternion.Euler(®,Quaternion.LookRotation(transform.position - target.position).eulerAngles.y - 180,0);
}




ransform target;

rb;
speed;
E) v Enemy (Script) 0 3
Target M. Player (Transform)
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Vector3 newVel = transform.forward * speed;
newVel.y = rb.velocity.y;
rb.velocity = newVel;

transform.rotation = Quaternion.Euler(®,Quaternion.LookRotation(transform.position - target.position).eulerAngles.y - 180,0);




UnityEngine;

ra target;
ieObject[] enemyPrefab;
range;
delay;
Q
InvokeRepeating( (Spawn),@, delay);
Spawn()
randIndex = Random.Range(®,enemyPrefab.Length);

my énemy = obj.GetComponent<Enemy>();
enemy .target = target;

t obj = Instantiate(enemyPrefab[randIndex],transform.position + transform.right * Randc

.Range(-range,range),Quaternion.identity);
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target,;

[] enemyPrefab;
range;
delay;

ﬂ v Spawner (Script)

Target A Player (Transform)
Enemy Prefab

Range

Delay 1




0

{
InvokeRepeating( (Spawn) ,8, delay);
}
Spawn()
{
randIndex = Random.Range(®,enemyPrefab.Length);
obj = Instantiate(enemyPrefab[randIndex],transform.position + transform.right * Random.Range(-range,range),Quaternion.identity);
y enemy = obj.GetComponent<Enemy>();

enemy.target = target;







